T2 OHE F21DENEFEAS BB
LRk29F587H(B)
R IBERRBHREESER

75 2R EF FE Tm
111 3L F iRE & 3 76 =
21 Bl gE INE BE 3 69 =
311 JIFE T3 EHEX 3 67 m
4141 RKEIFE HE =Y 3 62 =
51 FEEAL BRI IR 2 61 =
G il BEX= MIBERF 3 59 m
71 KEHE eN 1B 3 57 =
811 BINRE il N (A=) 3 54 =

FARIE. NP —SEREOVPED I

BF =2REB EFZ FIF S
11t N=Par7 bR 3 06 =
2111 A 120 65 3 92 =
311 PN Ml S 3 86 =
41411 PR I8 KA |A 3 77 R
511 PN=NE NEB ZEX 3 76 =
G ABR KR BB 3 74 0w
7 =PI Gl EX 3 =
81 BRAE INHZx Z5 3 74 =

RIS, BPH—>SEREVPED LI

BYCP L

5 8 8 8 8 8 & B

BYCP L

12
11

5 £ 8 8 8 8 & &

10



